
Formulário - INTERPOLAÇÃO - MINIMOS QUADRADOS

lk(x) =
(x− x0)(x− x1) · · · (x− xk−1)(x− xk+1) · · · (x− xn)

(xk − x0)(xk − x1) · · · (xk − xk−1)(xk − xk+1) · · · (xk − xn)

=
n∏

j=0,j 6=k

(x− xj)
(xk − xj)

Pn(x) =
n∑

k=0

lk(x)f(xk) = l0(x)f(x0) + l1(x)f(x1) + · · ·+ ln(x)f(xn)

Pn(x) = f(x0) +
n∑

k=1

f [x0, x1, · · · , xk](x− x0)(x− x1) · · · (x− xk−1)

f [x0, x1, · · · , xn] =
f [x1, x2, · · · , xn]− f [x0, x1, · · · , xn−1]

xn − x0

f [xi, xj] = f [xj, xi] =
f(xj)− f(xi)

xj − xi
Dif. divididas 1a. ordem

f [xi, xi+1, xi+2] =
f [xi+1, xi+2]− f [xi, xi+1]

xi+2 − xi
Dif. divididas 2a. ordem

f [xi, xi+1, xi+2, xi+3] =
f [xi+1, xi+2, xi+3]− f [xi, xi+1, xi+2]

xi+3 − xi
Dif. divididas 3a. ordem

En(x) = f(x)− Pn(x) = (x− x0)(x− x1) · · · (x− xn)
f (n+1)(ξx)

(n+ 1)!
onde ξx ∈ [x0, xn]

g(x) = α0g0(x) + α1g1(x) + · · ·+ αmgm(x)
(g0,g0) (g0,g1) · · · · · · (g0,gm)
(g1,g0) (g1,g1) · · · · · · (g1,gm)

...
... · · · · · · ...

...
... · · · · · · ...

(gm,g0) (gm,g1) · · · · · · (gm,gm)




α0

α1
...
...
αm

 =


(f ,g0)
(f ,g1)

...

...
(f ,gm)



1


